
Scientific Notation (A)Convert between scientific notation and ordinary numbers.
8.1 × 10⁻⁵ = 0.00117 =

0.000000029 = 3.5 × 10⁻⁸ =
0.00000284 = 8,430 =
0.00006398 = 7.79 × 10⁶ =
9.096 × 10⁻⁴ = 6.2 × 10³ =

0.0000009784 = 7,800 =
0.000019 = 9.68 × 10⁶ =

0.0000874 = 0.0000081 =
0.00029 = 1.83 × 10⁻⁸ =

0.002065 = 5.89 × 10⁻⁷ =
Math-Drills.Com



Scientific Notation (A) AnswersConvert between scientific notation and ordinary numbers.
8.1 × 10⁻⁵ = 0.000081 0.00117 = 1.17 × 10⁻³

0.000000029 = 2.9 × 10⁻⁸ 3.5 × 10⁻⁸ = 0.000000035
0.00000284 = 2.84 × 10⁻⁶ 8,430 = 8.43 × 10³
0.00006398 = 6.398 × 10⁻⁵ 7.79 × 10⁶ = 7,790,000
9.096 × 10⁻⁴ = 0.0009096 6.2 × 10³ = 6,200

0.0000009784 = 9.784 × 10⁻⁷ 7,800 = 7.8 × 10³
0.000019 = 1.9 × 10⁻⁵ 9.68 × 10⁶ = 9,680,000

0.0000874 = 8.74 × 10⁻⁵ 0.0000081 = 8.1 × 10⁻⁶
0.00029 = 2.9 × 10⁻⁴ 1.83 × 10⁻⁸ = 0.0000000183

0.002065 = 2.065 × 10⁻³ 5.89 × 10⁻⁷ = 0.000000589
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